
of]hgf If]q qm=;+= of]hgfsf] laa/)f kl/df)f OsfO{ of]hgf :yn
lalgof]lht ah]^-

? xhf/df_
s}lkmot

1=cfly{s lasf;

s[lif{ 1

lrg] Ho"nf le/fn ^fs'/f n;'g tyf Kofh 

ks]^ If]q / Ps #/ Ps s/];fjf/L 1 k^s cf=g=kf=1 1500

3
a]tnf nf^fktn a]df};ld t/sf/L v]tL tyf 

eDs a];f/ v]tL 2 k^s cf=g=kf=2 1500

Aoa;flos t/sf/L v]tL k|j$g tyf ks]^ 

If]q lgdf{)f 1 k^s cf=g=kf=4 1500

4

sfutL cfn' cn}rL l^d'/ ks]^ If]q-sfn' 

u*\ofg, /fpt[]/x], ndwf/f,afhsfl^of,;b]x 

vs{_ 5 j^f cf=g=kf=6 400

5
;flas 5,6,8,/ 9 df ;'Gtnf cfk a'^f 

vl/b 1 k^s cf=g=kf=6 200

6 ndwf/f ;'lvgfpnf kf]vl/ lgdf{)f 2 j^f cf=g=kf=6 600

7
d*f;}g lepn]sf]̂  a]?kf^f cf]dsfgf ;'Gtnf 

sfutL cn}rL v]tL 1 k^s cf=g=kf=7 1500

8
dGemf* (n]afh gjb'g d*f;}g nk'g Kofh 

ks]^ If]q 1 k^s cf=g=kf=8 1500

9  l;rfO{ kfOk vl/b bfl*;}g 1 k^s cf=g=kf=8 300

10

cfn' v]lt / ljleGg t/sf/L ;d'xut ?kdf 

tyf cn}}rL ;'Gtnf la?jf vl/b lat/)f 1 k^s cf=g=kf=9 1500

kz' 1 afvf|kfng 4 k^s cf=g=kf=3 1500

2
kz' :jf:Yo Aoa:yfkg cf}ifwL vl/b s/f/ 

;]jf Aoa:yfkg 2 k^s cf=g=kf=3 200

3 afvf|kfng tyf s'v'/fkfng Aoa;fo 2 j^f cf=g=kf=5 1500

4 kz' cf}iflw vl/b 1 k^s cf=g=kf=5 70

5 kz':j:Yo cf}ifwL vl/b k|flalws s/f/ ;]jf 1 k^s cf=g=kf= 9 150

ko{^g 1 g}g]n yfg dlGb/ 1 k^s cf=g=kf=5 300

2 g}g]n dlGb/ lgdf{)f 1 k^s cf=g=kf=6 150

3 sfnLsf dlGb/ #]/jf/ / af^f] lgdf{)f 1 k^s cf=g=kf=9 300

pBf]u tyf afl)fHo

;xsf/L 1 ;xsf/L ;xof]u 2 j^f cf=g=kf=3 50

lalQo If]q

2= ;fdflhs lasf; 1
;fd'bflos ejg Aoa:yfkg / ;f]nf/ vl/b -

blnt a:tL_ j^f cf=g=kf= 9 200

lzIff 1 a)*fnL cf=lj= 2 sf]&] ejg lgdf{)f 1 j^f cf=g=kf= 1 1500

2 clwsf/L cf=lj=/ sflnsf cf=lj= #]/jf/ 2 j^f cf=g=kf= 1 350

3 efg'eQm cf=lj= cfO{l;l^ Aoa:yfkg 1 k^s cf=g=kf= 1 300

4 hgtf cf=lj #]/jf/ lgdf{)f qmdfut 1 k^s cf=g=kf= 2 150

5 ;/:jtL df=lj 2 sf]&] ejg lgdf{)f 1 k^s cf=g=kf=2 1500

6 g]=/f=df=lj= ejg lgdf{)f 1 k^s cf=g=kf=3 1500

7 sflnsf cf=lj=ejg lgdf{)f 1 k^s cf=g=kf=3 500



8 dflnsf cf=lj kftf vl/b 1 k^s cf=g=kf=3 50

9 s'dnvf*f cf=lj= #]/fjf/ 1 k^s cf=g=kf=3 200

10 hgHof]lt df=lj #]/fkvf{n 1 k^s cf=g=kf=4 800

11 lxdfno cf=lj ,!fg]bo cflj dd{t 2 j^f cf=g=kf=4 100

12
bLk df=lj %fgf dd{t tyf cfO{ l;l^ 

Aoa:yfkg 
2 j^f cf=g=kf=5 750

13 kz'ktL cf=lj ejg lgdf{)f 1 k^s cf=g=kf=5 1600

14 lxdfno cf=lj %fgf tyf kmlg{r/ lgdf{)f 2 j^ cf=g=kf=5 230

15 sflnsf cf=lj ;f}rfno dd{t 1 k^s cf=g=kf=5 100

16 u)f]z df=lj Aoa:yfkg / lzj cf=lj dd{t 2 j^f cf=g=kf=6 300

17 sflnsf df=lj lkmN* lgdf{)f 1 k^s cf=g=kf=6 200

18 gf/fo)f lgdfla :t/ pGgtL 1 k^s cf=g=kf=7 1500

19 u)f]z cf=lj ejg lgdf{)f 1 k^s cf=g=kf=8 1100

20 lxdfno cf=lj ejg lgdf{)f 1 k^s cf=g=kf=8 1100

22 >L kz'klt df= lj= ejg lgdf{)F-b]O{ sf]&]_ 1 k^s cf=g=kf=9 1600

23 cf= lj= tx JoA:yfkg cg'bfg 4 j^f cf=g=kf=9 400

24
pRr lzIff k|ljlws ljifo cWWfog cg'bfg 

;fem]bf/L 1 k^s cf=g=kf=9 800

:jf:Yo 1 ufp#/ lSnlgs em'h sdf{ut 1 k^s cf=g=kf= 1 400

2 :jf:Yo rf}sL Aoa:yfkg 1 k^s cf=g=kf=2 150

3 :jf:Yo rf}sL ejg lgdf{)f 1 k^s cf=g=kf=3 1749

4 ufp#/ lSnlgs vf]k sfo{stf{ 1 k^s cf=g=kf=3 100

5 :jod ;]ljsf ;xof]u 1 k^s cf=g=kf=3 25

6 :jf:Yo rf}sL Aoa:yfkg tyf dd{t 1 k^s cf=g=kf=4 300

7 :jf:Yo rf}sL Aoa:yfkg 1 k^s cf=g=kf=5 230

8 ;fd'bflos :jf:Yo OsfO{ ejg lgdf{)f 1 k^s cf=g=kf=5 500

9
:jf:Yo sd{rf/L Aoa:yfkg / :jod;]ljsf 

k|f]T;fxg 1 k^s cf=g=kf=6 550

10 gof j*f ejg lgdf{)f l;dnv]t 1 k^s cf=g=kf=7 1749

11 aly{u ;]G^/ ejg lgdf{)f ts'{ 1 k^s cf=g=kf=8 500

12 ;fd'bflos :jf:Yo OsfO{ ejg 1 :yfg cf=g=kf=9 1749

vfg]kfgL tyf ;/;kmfO{
1
r'lqsf]̂  l;dufp em'h vf=kf= lgdf{)f 

1 k^s cf=g=kf=1 600

2 ltgwf/] vf=kf= k"g{ lgdf{)f 1 k^s cf=g=kf=1 400

3 b]p/fkf^f d'Nnfsfnfkf^f vf=kf lgdf{)f 2 j^f cf=g=kf=2 300

4 sfnfvf]nf vf=kf= lgdf{)f 1 j^f cf=g=kf=2 400

5 a'(fvf]nf vfg]kfgL dd{t 1 k^s cf=g=kf=3 200

6 a]?v]t s'h]*f s'dnvf*f vf=kf= lgdf{)f 1 k^s cf=g=kf=3 200

7 kg]/L gfpnf ddt{ cDtf]nf 1 k^s cf=g=kf=3 50

8
vfg]kfgL dd{t l;dvf]nf,afof]kfgL,s'G^f 

*f*]cfk ;flas 3,4,5 l;?jf*L / hgHof]lt 
4 j^f cf=g=kf4 250

9 tNnf] lrp/L %fd vf=kf= dd{t 2 j^f cf=g=kf=5 200

10 lsNnfxfGgf vf=kf= lgdf{)f 1 k^s cf=g=kf=5 100

11 vfg]kfgL dd{t l;+xf;}g ;a} 1 k^s cf=g=kf=6 600

12 %f/]?v, cf]v/?v vfg]kfgL lgdf{)f qmdfut 1 k^s cf=g=kf=6 1000



11 eDsd'n afdgufp vf=kf lgdf{)f 1 k^s cf=g=kf=7 500

12 %f/]?v cf]Dsfgf vf=kf=lgdf{)f 1 k^s cf=g=kf=7 400

13 sfkmnkfgL vf=kf= dd{t 1 k^s cf=g=kf=7 200

14 psfnL df]* vf=kf= lgdf{)f 1 k^s cf=g=kf=8 500

15 d]xnufp vf=kf= dd{t / d'n ;'wf/ 1 k^s cf=g=kf=9 300

16 ljwfno ;+:yf /+u/f]ug 1 k^s cf=g=kf=9 130
;:s[tL 1 sflnsf / b]ptL dlGb/ lgdf{)f 2 j^f cf=g=kf=2 250

2 dlGb/ dd{t 1 k^s cf=g=kf=4 80

3 e}/j b]a sflnsf dlGb/ dd{t 1 k^s cf=g=kf=6 150

4 hUgfy dlGb/ lgdf{)f 1 k^s cf=g=kf=8 600

5 di&f dlGb/ lgdf{)f ts'{ 1 k^s cf=g=kf=8 400

n}lu+s ;ddfgtf tyf ;fdflhs ;dfa]lzs/)f

dlxnf 1
l;laof] Aoa:yfkg tyf dlxnf ;r]tgf 

sfo{qmd 2 k^s cf=g=kf= 1 200

2 dlxnf :jf:Yo :jod;]lasf k|f]T;fxg 1 k^s cf=g=kf= 1 100

3 s'^fgL lk;fgL ldn 1 k^s cf=g=kf= 1 300

4 l;nfO{ s^fO{ tflnd 1 k^s cf=g=kf=3 150

5 l;nfO{ s^fO{ tflnd 1 k^s cf=g=kf=4 200

6 dlxnf :jf:Yo :jod;]lasf k|f]T;fxg 1 k^s cf=g=kf=5 50

7
%fpk*L afnlaafx Go"lgs./)f cleofg 

;+rfng 
1 k^s cf=g=kf=5 40

8 dlxnf lba; sfo{qmd 1 k^s cf=g=kf=6 100

9 s'^fgL lk;fgL ldn a]?kf^f 1 k^s cf=g=kf=7 300

10 lakGg Psn dlxnf afvf|kfng 1 k^s cf=g=kf=7 100

11 s'^fgL lk;fgL ldn 1 k^s cf=g=kf=8 300

12 dlxnf :od ;]ljsf k|f];fxg eQf 4 hgf cf=g=kf=9 50

13 xf]lhof/L tflnd d]lzg vl/b 10 hgf cf=g=kf=9 270

afnaflnsf 1 v]n d}bfg Aoa:yfkg 1 k^s cf=g=kf=2 250

2 g]=/f=df=lj= lkmN* lgdf{)f 1 k^s cf=g=kf=3 1000

3 v]ns'b ;fdu| vl/b 5 j^f cf=g=kf=3 50

4 ;"of]{bo afnlasf; dd{t 1 k^s cf=g=kf=4 100

5 pHofnf] afnlasf; Aoa:yfkg 1 k^s cf=g=kf=4 50

6 lab\ofnodf cltl/Qm lqmofsnfk ;+rfng 1 k^s cf=g=kf=5 30

7
d+u]lnog efiffkf&zfnf / dflnsf cf=lj 

#]/af/ 1 k^s cf=g=kf=6 400

8 afn lba; tyf afnlaafx Go"lgs/)f sfo{qmd 1 k^s cf=g=kf=6 150

9 >L kz'klt df= lj= e' k' ljwfyL{ JoA:yfkg 1 k^s cf=g=kf=9 200

h]i& gful/s 1 h]i& gful/s Gofgf] sk*f vl/b 1 k^s cf=g=kf=1 400

rf}tf/f lgdf{)f a*?v / tf/ ahf/ 2 j^f cf=g=kf=4 400

2 h]i& gful/s ;Ddfg 1 k^s cf=g=kf=5 30

ckfu+ 1 ckf+u cfocfh{g sfo{qmd 1 k^s cf=g=kf=1 100

2 ckf+u d]qL ejg lgdf{)f 1 k^s cf=g=kf=2 400

3 cw{ ckf+u ;xof]u 1 k^s cf=g=kf=3 25



4 ckfu+ ePsf JolQm cf= ;= 1 k^s cf=g=kf=9 50

blnt 1 blnt al:t lasf; tyf ;/;kmfO{ sfo{qmd 2 k^s cf=g=kf=1 700

2 blnt j:tL %fgf dd{t 1 k^s cf=g=kf=4 200

3 kGr]jfhf tyf blnt Ifdtf lasf; 2 j^f cf=g=kf=5 100

4 kGr]jfhf tyf blnt Ifdtf lasf; 2 j^f cf=g=kf=6 50

5 kGr]jfhf tyf blnt Ifdtf lasf; 2 j^f cf=g=kf=7 100

6 cf/g Aoa:yfkg 1 k^s cf=g=kf=7 100

7 blnt dlxnf,sfg'lg ;r]t tflnd 1 k^s cf=g=kf=9 50

cflbaf;L hghftL 1
cNnf] k|zf]wg ejg lgdf{)f tyf Aoa:Yffkg 

2 j^f cf=g=kf=5 500

3= k'jf{wf/ lasf; 

;*s 1 a'*fvf]nf b]vL x'nfs *f*f ;*s lgdf{)f 1 k^s cf=g=kf=2 400

2 l;:g] b]vL j*f sfof{no ;*s lgdf{)f 1 k^s cf=g=kf=2 1000

3
kf]v/f vfn b]vL hgtf cf=lj ;*s lgdf{)f 

1 k^s cf=g=kf=2 500

4 a'*fvf]nf b]vL ;]nufp uf]/]^f] af^f] 1 k^s cf=g=kf=4 200

5 /fsd l;+xf;}g ;*s dd{t 1 k^s cf=g=kf=6 500

6 v*Ls dflyNnf] d*F;}g vf=kf=dd{t 1 k^s cf=g=kf=7 500

7 a]?kf^fdf]* lepn]sf]̂  ;*s lgdf{)f 1 k^s cf=g=kf=7 500

8 a]?kf^faf^ j*f sfof{no l;dnv]t ;*s 1 k^s cf=g=kf=7 500

9 vf]lnahf/ cf]dsfgf ;*s 1 k^s cf=g=kf=7 500

10 j*f sfof{no kltIffno tyf #]/jf/ 1 k^s cf=g=kf=8 500

11 kz'klt df] lj]] kvf{n dd{t 1 k^s cf=g=kf=9 600

12 bx k"%f{ ;*s dd{t / klx/f] lgoGq)f 1 k^s cf=g=kf=9 600

l;rfO{ 1 # \̂ ]̂vf]nf l;rfO{ s'nf] lgdf{)f 1 k^s cf=g=kf=2 500

2 (f*fvf]nf Eof[p;]vfn l;rfO{ 1 j^f cf=g=kf=3 200

3 (f*vf]nf b]vL rf}*f l;rfO{ 1 j^f cf=g=kf=3 200

4 ;fNuf*L /fs' l;rfO{ kfOk vl/b 1 j^f cf=g=kf=3 200

5 ;fGg]u*f l;rfO{ s'nf] lgdf{)f 1 j^f cf=g=kf=3 200

6 # \̂ \̂s'nf] dfn' em'n l;rfO{ s'nf] 1 j^f cf=g=kf=3 200

7 cDtf]nf l;rfO{ kf]v/L 1 j^f cf=g=kf=3 100

8

l;rfO{ s'nf] lgdf{)f lv*]sL Ho"nf / e]Nt*L 

l/&f 2 j^f cf=g=kf=4 1000

9 sf]%/] k};]gL l;rfO{ s'nf] 1 j^f cf=g=kf=5 600

10 gf}nfjg l;rfO{ kfOk vl/b 1 j^f cf=g=kf=5 500

11 ndwf/f bf}/Lsfl^of l;rfO{ s'nf] 1 j^f cf=g=kf=6 500

12 lgrfn v*\sjf*f l;rfO{ s'nf] qmdfut 1 j^f cf=g=kf=7 400

13 gfpnL l;rfO{ kf]v/L lgdf{)f 1 k^s cf=g=KFf=8 200

ejg tyf ;xl/ lasf; 1 ;fd'bflos l;sfO{ s]Gb| ejg lgdf{)f 1 j^f cf=g=kf=3 250

2 lxofwf/f cf=lj 2 sf]&] ejg lgdf{)f 1 j^f cf=g=kf=6 1500

;+rf/

ag jftf/)f tyf lakb Aoa:yfkg  

ag tyf e' ;+/If)f 1 du|f ,vf*f / gfpnf vf]nf a[If/f]k)f 4 k^s cf=g=kf= 1 600

2 k|;fnf klx/f] lgoGq)f 1 k^s cf=g=kf= 2 250

3 t^aGwg  vf] ]̂;Nnf gfg^fk',bs'gf l;d 3 j^f cf=g=kf=4 1500

4 klx/f] lgoGq)f emf;] vf]nf Hofld/] vf]nf 2 j^f cf=g=kf=4 200

5 ^f*] ;b]\b] v*]s\u*\ofg  a[Iff/f]k)f 1 j^f cf=g=kf=6 100

6
:s'n sf]nf vf]nf v*\s]u*\ofg klx/f]] lgoGq)f 

1 j^f cf=g=kf=6 300



7

a'(femn ljzfnf gjb'g klx/f] lgoGq)f tyf 

j[Iff/f'k)f 1 k^s cf=g=kf=8 500

8 ;fd'bflos P]g /fli^o jg ;+/If)f 1 k^s cf=g=kf=9 100

kmf]xf]/ d}nf Aoa:yfkg 1 ;fj{hlgs ;f}rfno Aoa:yfkg 1 k^s cf=g=kf=4 50

lakb Aoa:yfkg 1 lakb Aoa:yfkg 1 k^s cf=g=kf=3 50

2 lakb Aoa:yfkg 1 k^s cf=g=kf=5 100

3 lakb Aoa:yfkg 1 k^s cf=g=kf=7 100

4 lakb Aoa:yfkg/ cfly{s ;xfotf 1 k^s cf=g=kf=9 50

;'zf;g tyf ;:yfut 

lasf;\ 1
af:s]^ kmf])*b tyf cw'/f of]hgf lgdf{)f 

1 k^s cf=g=kf= 1 1000

lalaw 2 af:s]^ kmf])* lgdf{)f 1 k^s cf=g=kf= 3 150

3 PrcfO{le ;xof]u 1 k^s cf=g=kf=3 50

4 af:s]^ kmf])* lgdf{)f 1 k^s cf=g=kf=4 200

5 n#' hnlaw't sfg]uf* dd{t 1 k^s cf=g=kf=4 200

6 cfly{s ;xfotf 1 k^s cf=g=kf=5 100

hDdf 73407

of]hgf If]q qm=;+= of]hgfsf] laa/)f kl/df)f OsfO{ of]hgf :yn
lalgof]lht ah]^-

? xhf/df_
s}lkmot

1 ;km^Jo/ g]̂ jsL{*= Ifdtf ljsf; 1 k^s cf=g=kf= 833

2 hx]Gbf/ %ftqa[l$ lat/)f 18 hgf cf=g=kf= 180

3 Goflos ;ldlt Aoa:yfkg 1 k^s cf=g=kf= 500

4 PrcfO{le kf]if)f eQf 1 k^s cf=g=kf= 400

5 gu/ leq ;*s dd{t 1 k^s cf=g=kf= 1000

6 d]lzg/L kf&k"hf{ dd{t tyf vl/b 1 k^s cf=g=kf= 800

7 kmf]x]f/ d}nf Aoa:yfkg 1 k^s cf=g=kf= 300

8 kmlg{r/ vl/b 1 k^s cf=g=kf= 400

9 s/bftf lzIff / nut ;+sng 1 k^s cf=g=kf= 300

10 ;jf/L ;fwg vl/b df]̂ / ;fO{sn 3 j^f cf=g=kf= 1000

11 sd{rf/L / kbflwsf/L Ifdtf lasf; 1 k^s cf=g=kf= 300

12 v]ns'b d}bfg lgdf{)f 1 k^s cf=g=kf= 500

13 gu/ :t/Lo v]ns'b k|ltof]lutf 1 k^s cf=g=kf= 400

14 a; kfs{ ;j]{ l*lkcf/ tof/ 1 k^s cf=g=kf= 600

15 j*f kfZj{lrq lgdf{)f 9 j^f cf=g=kf= 500

16 laB't nfO{g ;j]{ 1 k^s cf=g=kf= 900

17 of]hgf Aoa:yfkg tyf ;+rfng vr{ 1 k^s cf=g=kf= 2000

18 lakb Aoa:yfkg sf]if 1 k^s cf=g=kf= 900

19 cf=lj tx c+u\]lh efif l;sfO{ 9 j^f cf=g=kf= 900

20 /\ofK^lu ;DefAotf cWofog 1 k^s cf=g=kf= 400

21 hflto %'jf%'t pGd'ng ;r]tgf sfo{qmd 1 k^s cf=g=kf= 300

22 afbL a:tL lasf; sfo{qmd 1 k^s cf=g=kf= 1200

23 o"jf :j/f]huf/ sfo{qmd 18 hgf cf=g=kf= 2100

24 em'h b]vL l;dufp j*fsfof{no ;*s 1 k^s cf=g=kf=1 1500

25 lv*\sLHo"nf lkknsf]̂  j*f sfof{no ;*s 1 k^s cf=g=kf=5 2000

26 /fsd s)ff{nL cf]dsfgf ;*s lgdf{)f 1 k^s cf=g=kf=7 1000

27 blnt a:tL klx/f] lgoGq)f 1 k^s cf=g=kf=2 500

28 t'Ntfk"n l;dfgf af^f] 1 k^s cf=g=kf=3 200

29 blnt g]̂ js{ ;+:yfut lasf; 1 k^s cf=g=kf= 1400

 gu/ :t/Lo of]hgf



30 lzIff SofDk; cfO{l;l^ Aoa:yfkg 1 k^s cf=g=kf 8 800

31 cNnf] k|zf]wg d]lzg vl/b 1 k^s cf=g=kf=5 200

32 ;fem]bf/L 1 k^s cf=g=kf= 10000

hDdf 34313

lzIff 33 cf=lj=tx 87 hgf cf=g=kf= 10440

34 lg=df=lj= tx 30 hgf cf=g=kf= 5040

35 df=lj=tx 8 hgf cf=g=kf= 1728

36 lg=df=lj= / df=lj tx sDKo"^/ k|lzIfs 13 hgf cf=g=kf= 1560

37 afnlasf; s]Gb| :yfkgf 9 j^f cf=g=kf= 648

38
pRr lzIff k|flalws HA,MBBS Staff 
nurse 1 k^s cf=g=kf= 2500

40 ;|f]t s]Gb| Aoa:yfkg 1 k^s cf=g=kf= 500

41 dfgb]a cf=lj= ejg  lgdf{)f 1 k^s cf=g=kf-=1 700

hDdf 23116

:jf:Yo 42 cf}ifwL vl/b 9 j^f cf=g=kf= 2000

43 dgf]k/fdz{ bftf 1 k^s cf=g=kf= 800

44 ":jf:Yo rf}sL :t/ pGgtL Nofa ;]jf 1 k^s cf=g=kf=1 900

45 gof j*f 3,7 /9 df cgdL,cx]j s/f/;]jf 3 j^f cf=g=kf=3,7,9 810

46 gof j*f :jf:Yo sf= ;= s/f/ ;]jf 1 k^s cf=g=kf= 243

47 kz'hGo cf}ifwL vl/b 400

hDdf 5153

s'n hDdf 135989


